
Lecture 16 - March 30

Program Verification

Weakest Precondition (WP)
WP Rules
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Lecture

Program Verification

Rules of wp Calculus



Rules of Weakest Precondition: Assignment
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Correctness of Programs: Assignment (1)
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Correctness of Programs: Assignment (2) Heise
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Program Correctness: Revisiting Example (1)
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Program Correctness: Revisiting Example (2)
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Rules of Weakest Precondition: Conditionals
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Correctness of Programs: Conditionals

Is this program correct? (Step3)
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Correctness of Programs: Sequential Composition
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